—— O-I
N = 0] &8 AF S & AN A
SN B0l
MM HAS CSME BE(AMSIEX/0 - HAYH)
e LoldXiel =l ASEHE (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
A2 04l Bt 905,472,379 755,537,789 149,934,590
= 785,661,605
Jl 5,710,496
& 114,100,278
A28t “sME SE(AlSIEX/L0 - HAWH) 758,567,110 627,601,366 130,965,744
= 664,881,175
J| 5,534,000
o 88,151,935
Soldxiel =l ASEE 100,078,000 62,423,855 37,654,145
= 84,106,000
o 15,972,000
Colxiel 2 AsESXK(=2D) 100,078,000 62,423,855 37,654,145
= 84,106,000
=} 15,972,000
201 et | 9,000 0 9,000
2 4,500
& 4,500
03 A2 | 9,000 0 9,000
Ol Xtel AtY SE X dA3 9,000
2 4,500
& 4,500
301 et A= 16,000 0 16,000
2 8,000
== 8,000
09 SHAIAHI X & 2 16,000 0 16,000
OLolYdXel AIY SE X Ha2us 16,000
2 8,000
o= 8,000
308 AMXISHMSOIA 100,053,000 62,423,855 37,629, 145
= 84,093,500
= 15,959,500
01 HXHHIMNEEXTZ 100,053,000 62,423,855 37,629, 145
OB+ % 2&EH 95,757,000
= 79,797,500
& 15,959,500
Ox8I|& Mgl 4,296,000
= 4,296,000
100MIAICH, (AL XA 6,290,880 6,321,480 A 30,600
J| 4,453,000
& 1,837,880
(Z2AE)100MAITH 0124 YR2I(22) 4,453,000 4,646,000 193,000
J| 4,453,000
308 XX A SO0l A 4,453,000 4,646,000 A 193,000
J| 4,453,000
01 AIKISHHEBEMNEXZ 4,453,000 4,646,000 A 193,000




2N BZZF0ie ot
MY AYS LEMH BH(ASSN/L0 - Ha)
2l 100MAITH, Ol2a 2 Xtel AL (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O (22 2)100MAIH Ol2d Zxiel 4,453,000
J| 4,453,000
(LS )100MAITH o124 L X2l 59,760 34,000 25,760
201 L2l 7,000 7,000 0
01 At 22l 7,000 7,000 0
oxLediel 22 s MH 4,000
OIS M 3,000
307 g1+l & 31,160 5,400 25,760
02 It HAHEE 31,160 5,400 25,760
O HIYXNJAHH &sH s N2 31,160
308 XtXIEHH SOl A 21,600 21,600 0
01 X HHILEES 21,600 21,600 0
OAZ HYXNZHEH &#=3H S K2 21,600
(CIE & )100MAICH 241 L Xtel 1,173,120 1,026,480 146,640
307 21201 A 1,173,120 1,026,480 146,640
02 IZtE S AIHE L 1,173,120 1,026,480 146,640
O (CIEE )100MAICH 24 LXtel 1,173,120
(S38)100MAITH HE AL REE 500,000 500,000 0
308 XX EHHSOIA 500,000 500,000 0
01 HXNHHBNEES 500,000 500,000 0
O (S8 )100MAICH =248 LXtel 500,000
100MIAICH 241 LXtel AtY EOtU S 5,000 105,000 A 100,000
201 L2l 5,000 5,000 0
03 &AL2 I 5,000 5,000 0
Oz AL Xtel At Jtti 3l 5,000
Colgditel XJJl& sl 2el dged X 100,000 0 100,000
308 XX EHH SOl A 100,000 0 100,000
01 HIXNHHBHEELS 100,000 0 100,000
SoldRiel XNAJ2 3H dged XA 100,000
CEMEEEN ASIEN = 578,909,878 508,244,213 70,665,665
= 549,354,770
< 29,555,108
SOXNER SAE et 221,750 170,513 51,237
307 gl2tol & 170,000 170,513 A513
03 QIZtHNHE2HHEX 170,000 157,513 12,487
OAr2I SHHl 28l X2 (thHset=0el3l) 170,000
308 XXM SO A 15,000 0 15,000
01 IXNHHBNEES 15,000 0 15,000




2N

=]
Za: 1Y
L3

Ehel M S ALSI & & (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OANZ o3 X (2SS KH) 15,000
403 MHXISHHE X201 E 36,750 0 36,750
01 XM A=2EER 36,750 0 36,750
OAlzZ ols JIseEd X&E 36,750
ANELol8sdzl|l2 2L (=22) 1,048,350 960,216 88,134
=2 524,175
< 524,175
307 21201 A 1,048,350 960,216 88,134
= 524,175
< 524,175
10 AL SXNAIEEE2EHEX 1,048,350 960,216 88,134
OLQEsdEIN&Z 28 XA 1,048,350
= 524,175
< 524,175
st dsdH 2XNA(=22) 188,236 185,412 2,824
= 94,118
< 94,118
307 glz2tol & 188,236 185,412 2,824
= 94,118
S 94,118
10 ALl SXAIEEE 2 H EX 188,236 185,412 2,824
Oostiimlo = dE2&H 29 XN 188,236
= 94,118
< 94,118
A2Y W - gty 2 232H XN (=1) 3,408,600 3,254,700 153,900
= 1,794,000
< 1,614,600
308 XtXIEHHSOIA 3,408,600 3,254,700 153,900
= 1,794,000
< 1,614,600
01 X HHILEES 3,408,600 3,254,700 153,900
OZ=2Y d - ey ¥ 22H XA 3,408,600
= 1,794,000
< 1,614,600
d2Y 29 #4435 N 3,509,240 3,461,390 47,850
308 AAIEHHSOIA 2,346,990 2,078,390 268,600
01 HXNHHBHEELS 2,346,990 2,078,390 268,600
ozz2%g 29 & 2,161,820
Ods4Y 3Zz 0y A2 XN 185,170
403 XIS E X201 H 1,162,250 1,383,000 A 220,750
01 X HHX2E = 1,162,250 1,383,000 A~220,750
oZz% Jls2d N& 1,162,250
LololoHEd ¥ =23 HE 254,480 216,400 38,080




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 8,980 1,000 7,980
01 At 22l 8,980 1,000 7,980
OLel=XAY =2 7,000
ORLESA & HAXNEZA IHAS €2 1,980
202 Odl 11,000 0 11,000
01 = LH 4 Hi 11,000 0 11,000
okLeloloHEd & 23 8 =& 8,000
OLQ=XAE & FITAE =4 3,000
307 21201 A 24,000 13,600 10,400
02 B AAFEX 20,000 0 20,000
OZd =3t 2 &2t 20,000
11T M SXAS EX 4,000 13,600 A 9,600
ON= Lo SAH HEH &0t XA 4,000
308 XX EHHSOIA 195,500 201,800 A 6,300
01 AXHHILEES 195,500 201,800 A 6,300
oLy Jlg & ZAAZA St =R 20,000
oke Wit Y 24 NH 117,000
OaHM=E X 58,500
403 MHXSHHSA=0l& 15,000 0 15,000
01 X EHHMA=ZLE L 15,000 0 15,000
OLoua JIs2d X 15,000
== & 51,792 71,712 A 19,920
308 XX EHSOIA 51,792 71,712 A 19,920
01 HIXNHHNBNEES 51,792 71,712 A 19,920
o¥+==g X& 51,792
Jl=dz IS(NXRMEXR) (=) 569,852,710 499,521,410 70,331,300
2 546,797,857
< 23,054,853
308 XXM SOIA 569,852,710 499,521,410 70,331,300
= 546,797,857
< 23,054,853
01 X HHBIYEES 569,852,710 499,521,410 70,331,300
OJl=a K& 569,852,710
= 546,797,857
< 23,054,853
dz2Y ZAXNdH 2R (=22) 289,240 284,460 4,780
= 144,620
< 144,620
307 21201 A 289,240 284,460 4,780
= 144,620
< 144,620

~




2N BZZF0ie ot
HE: AUS LRME BH(ASSR/LQ - FAW)
S CSMESFEN MIEFN = (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 289,240 284,460 4,780
OZ2Y ZIAXNJAEH 28 XN 289,240
= 144,620
< 144,620
SEH 2N s AR 30,480 48,000 A 17,520
308 XXM SOIA 30,480 48,000 A 17,520
01 IXNHHBANEES 30,480 48,000 A 17,520
O=H Hzd g8 X 30,480
S(E)NAUMH 29X 55,000 55,000 0
307 21201 A 55,000 55,000 0
11T A SXAIEE = 55,000 55,000 0
Os(H)XNUMEH 24X 55,000
LooE - EXNAE &= 68,059,021 47,674,158 20,384,863
= 29,330,405
J| 1,081,000
< 37,647,616
Lol EXNAE 23XA 32,166,475 29,609,793 2,556,682
308 XM SOIH 32,145,475 29,609,793 2,535,682
01 HXNHHBHELS 32,145,475 29,609,793 2,535,682
OJI=4+3X S QYIS 20 XS 32,145,475
403 MtXISHHE A0l & 21,000 0 21,000
01 XM A=2E X 21,000 0 21,000
OLQRUALE cIZE & XA 21,000
CLOQAANLES(IIsEY) AE(=1) 11,977,644 753,634 11,224,010
= 9,189,402
< 2,788,242
403 XIS E X201 E 11,977,644 753,634 11,224,010
= 9,189,402
< 2,788,242
01 X SHHAN2E= 11,977,644 753,634 11,224,010
OLQQAUANE HF(JIsEZ) 1,309,044
= 654,522
=) 654,522
OLQQAANE SHE(XNMEEE) 10,668,600
= 8,534,880
< 2,133,720
SSAHIA BAAL 2S2x & MRS 308,460 252,840 55,620
307 21201 A 12,000 12,000 0
11T MISAASEX 12,000 12,000 0
O=SSAMHlIA SAR A2 WS 12,000
308 XX EHHSOIA 296,460 240,840 55,620




2N BZZF0ie ot
HE: AUS LRME BH(ASSR/LQ - FAW)
el LOloR - RRAA HE CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 HIXNHHNBHNEES 296,460 240,840 55,620
SAEIA SAR 2SEX 296,460
SEHLO SETM SSHHLHMEA 2EX2 1,321,284 1,275,140 46,144
=1)
Jl| 1,081,000
< 240,284
308 AXIEHHSOIA 1,321,284 1,275,140 46,144
J| 1,081,000
< 240,284
01 HIXNHHNBMNELS 1,321,284 1,275,140 46,144
OSSN =E5FMMe S=SLEAMHA 24 1,321,284
J| 1,081,000
< 240,284
LZ A 2EH XA (=212) 2,444,250 2,258,000 186,250
= 251,283
< 192,967
308 XXM SO A 2,444,250 2,258,000 186,250
= 2,251,283
< 192,967
01 IXNHHBNEES 2,444,250 2,258,000 186,250
OLZ A& 2gHl XA 2,444,250
= 2,251,283
< 192,967
MOt XA MEIA X 392,000 0 392,000
308 MtXIEHSOIH 392,000 0 392,000
01 X HHIBLEXS 392,000 0 392,000
OMIt- I XNI&AMEIA K& 392,000
LogtEESAUIA(Z 1) 19,448,908 0 19,448,908
= 17,889,720
< 1,559,188
307 gl2tol & 107,190 0 107,190
= 75,030
< 32,160
10 AL SXAIEEE2EH EX 107,190 0 107,190
OLoREESAMEIA HEIIZ K& 107,190
= 75,030
< 32,160
308 XtXIEHHSOIA 19,341,718 0 19,341,718
= 17,814,690
< 1,527,028
01 AXHHIYEES 19,341,718 0 19,341,718
OkoXE==SAEIAAY K& 19,341,718
= 17,814,690
< 1,527,028

(o))




2N BZZF0ie ot
Ha: AYS LSME SH(MNESN/C - HAY)
©F: MAAE =5 (29l 8)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
HFAAIE &5 2,280,571 0 2,280,571
= 2,090,000
< 190,571
S48 ZAANE EX(=1) 2,280,571 0 2,280,571
= 2,090,000
< 190,571
403 MHXSHHSA=0l& 2,280,571 0 2,280,571
= 2,090,000
< 190,571
01 X ESHHMA=E L 2,280,571 0 2,280,571
OFAAE &= 2,280,571
= 2,090,000
< 190,571
EXAE 29 XA 2,948,760 2,937,660 11,100
MII=XAE 29 2,664,710 2,606,480 58,230
307 glz2tol & 276,610 273,520 3,090
11T M SXAISE EX 276,610 273,520 3,090
O% AMI=EXANE ML SX+H 266,610
LOIZRNAIE SALAL ARAHAEF 10,000
308 AHAIEHHSOIA 2,388,100 2,316,960 71,140
TRAXNEHEHEES 2,388,100 2,316,960 71,140
OAZ Le=2XNAE BAX EX==E 1,840,680
OAZ ZHASXAIE SAXL =X 547,420
Lo=EX 3 =4 250,000 250,000 0
307 21201 A 250,000 250,000 0
11T MISXAISEEX 250,000 250,000 0
OLe=EXNESTAY B2 250,000
MBISX AL EOIt 19,050 81,180 A62,130
201 £Br2%| 19,050 81,180 A 62,130
01 At 22l 19,050 81,180 A62,130
OAZISXIAIE HIHEMHA=SXIAIL) 19,050
COETAE AMESH HEHE 2 15,000 0 15,000
201 Zet24E] 9,000 0 9,000
03 A2 Z Hl 9,000 0 9,000
O AME3H e 2] 9,000
301 LA F 6,000 0 6,000
09 #HALAHIXI &3 6,000 0 6,000
O A&3H HEHC 2=HI 6,000
ZOHAEX AMEE SH(MIAEX/HAANSKR) 146,824,192 127,856,284 18,967,908
= 120,768,430




2N

ZZZ 0§t

H: JUU=R AMEE S (MISX/FHLASIH)
Sl BAUSTAL 25 U 29 CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 176,496
< 25,879,266
FHA=ETAE &5 & 29 43,691,055 42,987,277 703,778
= 31,176,295
J| 111,738
=) 12,403,022
HOANE &5 =4 569,638 434,606 135,032
201 Yet2 | 7,000 7,000 0
01 At 22l 7,000 7,000 0
OFZOMR & H FAAHA =& 2,000
OFMU=XES 29 4,000
OZOMA=SXME SAKN HARAFSZ 2A=E 1,000
202 044l 7,000 7,000 0
01 = LH o4 1l 7,000 7,000 0
CHMA=XSE =& 7,000
301 P BHZ 3,300 3,300 0
09 AL HIXI &3 3,300 3,300 0
OFMA=SKEE SAX A3l FAX X 3,300
307 glz2tol & 308,338 287,306 21,032
11T M SXASE EX 308,338 287,306 21,032
O% TOHC HYALXNRAHEH 2 308,338
308 XXM SOl A 244,000 130,000 114,000
01 AXHHBILEES 244,000 130,000 114,000
OAlZ ZOHQ HOAAIZXRAME X 64,000
OAE BIZIAIY H24d e 180,000
HATEYA s=sHEZZOY NI (=) 139,673 128,959 10,714
J| 111,738
= 27,935
307 glz2+ol & 139,673 128,959 10,714
J| 111,738
< 27,935
10 ALSISXAIEEE2EH EX 139,673 128,959 10,714
OHGATEHR SISMEZZ20H 2K 139,673
J| 111,738
< 27,935
Zoiel MeEXdy 22 1,058,749 1,017,096 41,653
307 21201 A 601,223 572,335 28,888
IEENIEEE: 601,223 572,335 28,888
ONAZHANBNRME 2 57,520
OHLTONQATEXAME 2 103,500
OXNEFOHANEXNAME S 237,230




fN: ZZF04

HaM: HOHQUEX AlHE SH(AISIEX/FHLHSIH)
Sl HOHOZNAL HE U 29 (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OFEMUAHIIKNKALMEYH 24 82,300
OFMOUSBE AL 2 120,673
308 AXIEHMSOIA 437,526 424,761 12,765
01 AIXSHMENEXZ 437,526 424,761 12,765
OANT AU XGHXNBEE & 147,132
OAlZ BOoESSAEA 2H 290,394
403 XX SHHMS K201 & 20,000 20,000 0
01 RXESH K22 =X 20,000 20,000 0
ONEZHATMNAME ZIILXH X & 0,000
OFOHQINISNRME EIISXH X 10,000
ol B82S =& 212,000 212,000 0
307 QI2t0| & 212,000 212,000 0
11T A EXAIEEX 212,000 212,000 0
OFOMe AZBSXA 212,000
MBIEXDIZ BAK HRNA 135,600 132,120 3,480
307 212t0| & 63,750 88,200 N 24,450
11 A EXAIEE X 63,750 88,200 N 24,450
OF AISIEX 2 SAX HLMH 63,750
308 XHXIEHSOIA 71,850 43,920 27,930
01 AIKISHHEMNEX= 71,850 43,920 27,930
OANZ Al EXII& SAXN HRHA 71,850
o AATEANE 29 716,215 727,438 A 11,223
307 giztol A 716,215 697,438 18,777
10 MM SAANEEHESIGHEX 716,215 697,438 18,777
O=silleEsS&ANE 24 346,317
OSEtESAAME 29 369,898
HOHQUMATHEAIL JSSLAA(2D) 2,971,573 1,980,768 990,805
2 1,485,786
& 1,485,787
402 SI2FXHE20| & 522,220 79,860 442 360
= 261,110
= 261,110
02 BIZtXIEANYEX(0OIETHH) 522,220 79,860 442 360
OXMNQUXNATHEAILE JsBLAMA 522,220
= 261,110
o= 261,110
403 XX SRS K20l & 2,449,353 1,900,908 548,445
= 1,224,676
= 1,224,677
01 AXESHI2E X 2,449,353 1,900,908 548,445




fA:H

HE: ZHUST A
Sl HOHOIZ XA &

Z 0§l

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
OXOHAXNATHEAE JIsE2Z ALY 2,449,353
= 1,224,676
< 1,224,677
ZOHR NAASMHEAE 2 3,770,780 3,752,475 18,305
201 L2l 3,000 3,000 0
01 At 22l 3,000 3,000 0
OHMASKAIE SAX &4RAHES 3,000
202 04l 6,000 0 6,000
01 = LH YI 6,000 0 6,000
OFHTHE X AE2E & =& 6,000
301 LEAZ 6,000 6,000 0
09 HALAHIX A S 6,000 6,000 0
OFMA=SKAE SAR ARAES 6,000
307 21201 A 3,755,780 3,743,475 12,305
10 ALSISXAIEEE2GHEX 3,755,780 3,743,475 12,305
OFNMEMNZ 29 160,947
OFH MEQISKNAUH 29 320,000
Ootltgl=2tEs A 23 160,940
O =HSIHEH 2 335,420
OLIAZZMAUSE=EN2 2 2,598, 186
OMCtM=2tES A 2F 180,287
ZOHCIHFAIE 2EX2(=21) 31,245,487 29,209,404 2,036,083
= 28,716,300
< 2,529,187
307 glz2tol & 145,400 120,000 25,400
= 72,700
< 72,700
10 M3 SXNANEHI2IHE=S 145,400 120,000 25,400
OFMHe #H 2FXA 145,400
= 72,700
< 72,700
308 XXX S0IA 31,100,087 29,089,404 2,010,683
= 28,643,600
< 2,456,487
01 AXNHHEBANEES 31,100,087 29,089,404 2,010,683
QML AHNFAE 2SN 30,502,577
= 28,094,479
< 2,408,098
OMEXECR Wiy =& 566,053
= 521,365
< 44,688
OZJ18&FJ| dERN&H 31,457
= 27,756




A2

D EMOEX MEE SH(AMSK/FHAAHSKH)
D BUSTAL #E U 2Y (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
| = 3,701
HOHQAUHF=AIE DIsELAMS(Z2D) 1,450,850 4,142,964 N2,692,114
= 725,425
< 725,425
403 IR SHHSA201H 1,450,850 4,142,964 N2,692,114
= 725,425
= 725,425
01 XX SHMAA2E X 1,450,850 4,142,964 N2,692,114
OFMHAUANFAILE IS A 1,450,850
= 725,425
& 725,425
O HZTAE SHXS (XA 636,792 631,534 5,258
201 et A | 12,000 36,000 A 24,000
01 AFR2t2l Yl 12,000 36,000 A 24,000
OXHOMHAHFAIE UAHAMEHTAIRE = 12,000
307 QI2t0| ™ 454,083 383,314 70,769
10 MBI SXAIEEHESIHIEX 446,339 378,342 67,997
O&oel st esAs 849 232,963
oOFOe SsMEIF(tLEE) 29Y 50,789
OZHC ZSMEIIAH(0lE,0) 2H 88,320
OLfH&EMeEH 24 74,267
11 A SXNAEE X 7,744 4,972 2,772
OZ0Q Z=MEIIE HNME XA 7,744
308 AXISHXSO0IH 160,709 156,020 4,689
01 AXHNBMNEXTZ 160,709 156,020 4,689
OZQ Z2=MEIIE Mo X 4,805
O&EMAHFAIL 22 MEoE & 155,904
402 212t X 20| & 10,000 0 10,000
01 SIZEXI2 A E X (KA TH ) 10,000 0 10,000
OILdi&MeaH 29 10,000
NI X GAIS MEAAE JsEL N 147,000 50,000 97,000
207 912 2yl 18,000 0 18,000
01 A2 sS<H| 18,000 0 18,000
A HWASEENZ JIsHEY 24 18,000
403 ItXISHXM S K201 129,000 20,000 109,000
01 AIXISHMA2E X 129,000 20,000 109,000
OMEOIsSAJMEH JIsE22d XA 49,000
O&FMeEsE=ENZ JsE2d A& 80,000
SSEHHU NS MEHEH XS (=1) 323,418 242,533 80,885
= 248,784
& 74,634




2N
CEMHASI AEE
el &

X ZH
S =

ZZZ 0§t

=
=3
ZA=EXAIE &E 2

[}
l = T

S(MESX/HAAHEX )
g

(o
S - BB () - HEAY - BES Ol At o %@ﬁ HRE2
308 XHXIEHSO|A 323,418 242,533 80,885
= 248,784
& 74,634
01 AIXSHMEMNEX= 323,418 242,533 80,885
OSSR XNHFMESXJLAE K& 323,418
= 248,784
=} 74,634
ST RS ME X KAME XKD 8,000 60,500 A 52,500
308 ANXISHHMSOIA 8,000 60,500 A 52,500
01 IXHHIMNEXS 8,000 60,500 A 52,500
OZSEC NSEMESXRAMMH T2 29 8,000
ool gk A5t 131,000 117,800 13,200
307 QI2t0| & 65,000 65,000 0
11 A EXAIEEX 65,000 65,000 0
OHOMR HFALEEA JHEEHZ2 XA 65,000
308 XHX|IEHHI S0l 66,000 52,800 13,200
01 AIXSHMENMNEX= 66,000 52,800 13,200
O&MeIAZ2 =2 X 66,000
O EXNAIE 2 2 HUS 10,000 28,500 A 18,500
307 gizto| A 10,000 28,500 A 18,500
11T AISIEXAIEEX 10,000 28,500 A 18,500
OE-SECE Z2HLE 10,000
NSMeze 29 x| 40,000 90,000 A 50,000
308 MXISHHMSOIA 40,000 50,000 A 10,000
01 AXHHIMNEXS 40,000 50,000 A 10,000
OXgMet=et 2HHY| X 40,000
ool Xt SFOIINA Z2EHHS)] X XS 27,280 0 27,280
308 XX SHHSOIH 27,280 0 27,280
01 AIXSHMEMNEXZ 27,280 0 27,280
OZOHRI XS BIOJINA 2EHAHSD] AX XS 27,280
ORI HZ=AIE JIsE2(XA) 60,000 0 60,000
403 XX SHHS K20 & 60,000 0 60,000
01 AIXISHHMA2E X 60,000 0 60,000
OEOMR HT=AIE R 60,000
ZOHQIZATHEAIE JDISEZ(NHA) 37,000 0 37,000
403 XX SHS K20 & 37,000 0 37,000
01 XIS A=2E X 37,000 0 37,000
OFOMAMNLTEAIE JIsEL 37,000




2N
X ZH -
L= B

el

ZZZ 0§t

FUASX AEE SH(MESX/HSAHASIE)
[u] S II

oMy & WE

SN EH - (EH) - HRAY - BES 0] &k o4 il Hl D2
FjMEOE U HEX 101,880,236 83,901,669 17,978,567
2 89,461,529
g 64,758
= 12,353,949
Toje JEMEEY X 122,560 122,360 200
308 XXl EHH S0l & 122,560 122,360 200
01 HXESHBL4EES 122,560 122,360 200
OFOHL HIZ0 BET LYY X 6,400
oOFe LEIA X 92,160
OFofe ALAW X B 24,000
Toje ESNAS0f NR(22) 39,524,328 28,356,565 11,167,763
2 36,403,985
= 3,120,343
308 XXl EHH S0l & 39,524,328 28,356,565 11,167,763
2 36,403,985
= 3,120,343
01 HXESHBA4EXS 39,524,328 28,356,565 11,167,763
OFoe HSNAS0 X 39,524,328
= 36,403,985
= 3,120,343
SESRX JHNS0(2D) 64,458 43,830 20,628
2 59,367
= 5,001
308 XX &M SOl & 64,458 43,830 20,628
2 59,367
= 5,001
01 HXESHELEES 64,458 43,830 20,628
OHSEE IS0 64,458
2 59,367
= 5,091
T ESXE FIAY 1,194,312 1,650, 172 455,860
308 XXl EHH S0l & 1,194,312 1,650, 172 455,860
01 HXESHELEES 1,183,312 1,639, 172 455,860
ONHABSXE EIIAY 1,183,312
10 BIIZSOITH S H A H A A S b 11,000 11,000 0
OFMUBSXE ZIIAMY A= 11,000
Zojel Yers L2l XNE(=D) 4,773,960 3,584,506 1,189,454
= 3,978,300
= 795,660
308 XXl & H S0l & 4,773,960 3,584,506 1,189,454
= 3,978,300
= 795,660
01 HXESHELEES 4,773,960 3,584,506 1,189,454




2M: JZF0He
FH: Zo=sEN A8 SH(MIISX/HALHSIH)
s] 5t K|

SRl MO MBI o HEX (B9 ®R)
= — = s
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2

oZofel dgty axel NA 4,773,960
= 3,978,300
S 795,660

ZOHO! AIEHM X2l XA (=22) 849,672 602,704 246,968
= 708,061
= 141,611

308 XXM SOl & 849,672 602,704 246,968
= 708,061
= 141,611

01 HXHHBaEES 849,672 602,704 246,968
OFOH AIZEME Rtel X2 849,672
= 708,061
S 141,611

Zoel SXgiel XN (=10) 1,788,059 1,408,029 380,030
= 1,490,049
& 298,010

308 Xt EHM S 01 E 1,788,059 1,408,029 380,030
= 1,490,049
< 298,010

01 HXAHHMZEES 1,788,059 1,408,029 380,030
OFOMe =XLXtel XS 1,788,059
= 1,490,049
= 298,010

A2 ZOHQl QHOMAF A (=) 601,660 494,038 107,622
= 573,010
S 28,650

308 XXM SO0l & 601,660 494,038 107,622
= 573,010
S 28,650

01 XM BaE2ES 601,660 494,038 107,622
OAIZEE 0Nl OFOFAF THA 601,660
= 573,010
S 28,650

SYRPALALESA EE(2D) 78,681 57,362 21,319
= 65,568
= 13,113

308 XXM SO0I™ 78,681 57,362 21,319
= 65,568
= 13,113

01 UAXSHHBLEXS 78,681 57,362 21,319
OELHM QAYEZS A XA 78,681
= 65,568
= 13,113

EZIONY NALEE HYXNA(2D) 77,298 0 77,298
Il 64,758
S 12,540




2N
X ZH -
L= B

el

A2 =0l
U =T AME S&(MEST/HANES)
TOHQIMBON U THEX

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 77,298 0 77,298
J| 64,758
< 12,540
01 HIXNHHBHNEELES 77,298 0 77,298
O=THML XNASEE HYXR 77,298
J| 64,758
< 12,540
ool MMZEHIHAIE XA (=1) 168,675 164,410 4,265
= 67,470
< 101,205
307 glz2+ol & 168,675 164,410 4,265
= 67,470
< 101,205
10 ALSISXAIEEE2EHEX 168,675 164,410 4,265
OO MAS BHIHAIE 29I 168,675
= 67,470
< 101,205
ZOHQl MAZEHIAIY 243 X 78,500 78,500 0
201 Let24d] 3,500 3,500 0
01 At 22/l 3,500 3,500 0
Ol MAS HIIEXN &2 3,500
307 glz2tol & 75,000 75,000 0
10 AL SXAIEEE2EH EX 55,000 55,000 0
OOl MAZE THOHAIE DAHEAHE XA 55,000
11T M3 SRASEEX 20,000 20,000 0
O MAE EEHAE 20,000
Zoeldza sdXS(=21) 35,820,072 33,084,071 2,736,001
= 31,739,304
< 4,080,768
308 AAIEHH SO 35,820,072 33,084,071 2,736,001
= 31,739,304
< 4,080,768
01 HXNHHBHELS 35,820,072 33,084,071 2,736,001
oOFHelH=z XA 35,820,072
= 31,739,304
< 4,080,768
Fo=gOlx) N2(=21) 3,743,471 3,693,814 49,657
= 3,317,000
= 426,471
308 XXM SOl A 3,743,471 3,693,814 49,657
= 3,317,000
< 426,471
01 IXNHHBANEES 3,743,471 3,693,814 49,657




S ZEEoHo
H: ZO=EX NEE SH(MIS/FHALAHASI )
E S AR

Helr FoHeldeetd 2 HE

2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

oM=< XNS(I=x) 3,743,471
=2 3,317,000
< 426,471

Zof4(RHAD) NS(2D) 3,152,100 3,091,157 60,943
= 2,793,000
= 359,100

308 XXM SOIA 3,152,100 3,091,157 60,943
2 2,793,000
< 359,100

01 X HHBILEES 3,152,100 3,091,157 60,943
OFM=Z(Xae E) 3,152,100
2 2,793,000
< 359,100

iz NA(=2) 1,315,795 1,475,162 A 159,367
= 1,253,138
< 62,657

308 XX EHHSOIA 1,315,795 1,475,162 A 159,367
= 1,253,138
< 62,657

01 HXNHHBHELS 1,315,795 1,475,162 A 159,367
O&Oel 2l=Hl KA 1,315,795
= 1,253,138
< 62,657

NASZOHC XSl L ZJAH X2 (=2) 31,571 31,571 0
2 26,309
= 5,262

308 XXM SO0 A 31,571 31,571 0
2 26,309
S 5,262

01 IXNHHBHNEES 31,571 31,571 0
OMASZOHQ AEHHl 2 HAH X & 31,571
= 26,309
< 5,262

ZOHIEEDID XNA(=1) 87,261 82,011 5,250
= 83,106
< 4,155

308 XXIEHHSOIA 87,261 82,011 5,250
= 83,106
< 4,155

01 XML EES 87,261 82,011 5,250
OFOMIE XD XA 87,261
= 83,106
< 4,155

YACRIIDNIMEH SN (D) 203,250 0 203,250
2 101,625
< 101,625




A 2200t
H: JUU=R AMEE S (MISX/FHLASIH)
CHY: XONOIA{EIOFE O N

4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

307 2Iz2to| & 203,250 0 203,250
= 101,625
& 101,625

10 MM SXAANEEHESIGHEX 203,250 0 203,250
OLREEXININMEYH 2EXA 203,250
2 101,625
=} 101,625

SLHENUIA BIRH A (2D) 2,871,061 2,871,007 54
=2 2,644,400
= 226,661

308 XHXIGHH SO0l & 2,871,061 2,871,007 54
=2 2,644,400
= 226,661

01 IXHHNIMNEXS 2,871,061 2,871,007 54
OYLMMEAHIA HBIRSH AL 2,871,061
= 2,644,400
o= 226,661

AL HRH A (=2D) 16,904 16,850 54
= 15,570
o= 1,334

308 AMXISHMSOIA 16,904 16,850 54
=2 15,570
=} 1,334

01 AIXSHMEMNEX=Z 16,904 16,850 54
OAHHELAE HIRK ALY 16,904
= 15,570
& 1,334

ZOHOE JtE ¥SXH(=21D) 993,876 934,623 59,253
= 695,713
= 298, 163

307 2iz2to| A 993,876 934,623 59,253
= 695,713
= 298, 163

10 MM SAANEEHESIGHEX 993,876 934,623 59,253
OZOMOIIIE LA RFALLY 993,876
= 695,713
o= 298, 163

ZTEA HENA(ZD) 70,375 53,865 16,510
= 56.300
= 14,075

307 QI2t0| ™ 70,375 0 70,375
= 56,300
& 14,075

11T A EXAIEEX 70,375 0 70,375
oOZ225A Hl2Xd 70,375




2N
X ZH -
L= B
el

NEE S8 (ASST/HAHETH)
EIVEDNE

(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 56,300
& 14,075
SIS A ERASEIK|(2D) 14,115 14,115 0
= 13,000
= 1,115
308 XAHXIEHSOIA 14,115 14,115 0
2 13,000
= 1,115
01 AIXSHMEMNEX= 14,115 14,115 0]
O &R F2M4SXJ 14,115
= 13,000
=} 1,115
SRR NEFAXNK(ZD)(XH) 88,571 88,571 0
= 62,000
= 26,571
307 giztol A 88,571 88,571 0
= 62,000
= 26,571
11T A EXAIEEX 88,571 88,571 0
oOgg MR JIIEEAXA 88,571
= 62,000
= 26,571
A0 BEL2uE(=21) 20,000 0 20,000
= 10,000
o= 10,000
307 212t0| & 20,000 0 20,000
= 10,000
o= 10,000
11 A EXAIEE X 20,000 0 20,000
OY9RII E2u=x 20,000
= 10,000
& 10,000
HOIME)| 22 A XNH NzAE Y IR D 20,000 0 20,000
22(22)
= 10,000
= 10,000
307 QI2t0| & 20,000 0 20,000
= 10,000
=} 10,000
ASIEXAISE E X 20,000 0 20,000
OdOIMED| LS EfOIXEH NS AME L DA
S0 20,000
= 10,000
o= 10,000
HolANE(=21) 16,000 0 16,000
= 8,000




A 2200t
H: JUU=R AMEE S (MISX/FHLASIH)
CHY: XONOIA{EIOFE O N

(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

< 8,000

307 glz2tol & 16,000 0 16,000
2 8,000
< 8,000

11T MISXASEEX 16,000 0 16,000
oOdeIANSE 16,000
= 8,000
< 8,000

YACTLLZHAXNALMEY SN (2D) 501,000 652,000 A 151,000
= 250,500
< 250,500

307 21201 A 501,000 652,000 A 151,000
= 250,500
< 250,500

10 ALSISXAIEEE2IHEX 501,000 652,000 A 151,000
OLIAZTLEHMAUXZLMH 2SS XA 501,000
= 250,500
= 250,500

ZABENUA 2FAAXA(2D) 151,000 0 151,000
2 75,500
< 75,500

307 gl2tol & 151,000 0 151,000
= 75,500
< 75,500

10 ALl SXNAIEEE2EH EX 151,000 0 151,000
oF2eEesMUlA 2HEX2 151,000
= 75,500
< 75,500

LI FAESMHEA NS (21) 1,606,857 540,143 1,066,714
= 1,480,000
= 126,857

308 XXM SOl A 1,606,857 540,143 1,066,714
= 1,480,000
< 126,857

01 IXNHHBMNEES 1,606,857 540,143 1,066,714
OggIMel F2HEaSAHEIA X2 (B2H) 1,606,857
= 1,480,000
< 126,857

HAE SIS HNRSESMHEA N (2D) 1,498,286 374,137 1,124,149
= 1,380,000
= 118,286

308 MXIEHSOH 1,498,286 374,137 1,124,149
= 1,380,000
< 118,286

01 X HHILEXS 1,498,286 374,137 1,124,149




2N
X ZH -
L= B

el

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
CEEEEEELEEEEEE L ENE
(Ht2H) 1,498,286
= 1,380,000
< 118,286
A ool ssIad 2IX(=21) 202,508 193,096 9,412
= 101,254
< 101,254
307 gl2tol & 202,508 193,096 9,412
= 101,254
< 101,254
10 AL SXAIEEE2EH EX 202,508 193,096 9,412
OXS FoeddssII2d 23 202,508
= 101,254
< 101,254
A ool s8sI2 29 KA (KA) 134,000 95,000 39,000
307 glz2+ol & 134,000 95,000 39,000
10 ALSISXAIEEE2EH EX 134,000 95,000 39,000
oOXd FpelAasSsI2 29 134,000
ZOHAANS L AL EH O & 1,252,901 967,338 285,563
= 130,606
< 1,122,295
ZOHQ CHX A XA 17,600 39,800 222,200
307 21201 A 17,600 39,800 A 22,200
11T MISAASER 17,600 39,800 A 22,200
OZREE s0teI==0I03 3,200
OZJE =0t thal 7,200
OZ3L £ =X 7,200
Zoe 2o =23AY 50,000 16,000 34,000
307 21201 A 50,000 16,000 34,000
11T M3 SXASEEX 50,000 16,000 34,000
OZ¥ e =Lt HAEE 50,000
ZOoperal Jpe =& 44,500 44,500 0
201 £B-2dH| 4,500 4,500 0
01 At 22l 4,500 4,500 0
OZOHI=SXICHA Al& 4,500
307 glz2+ol & 40,000 40,000 0
11T MIEXASEX 40,000 40,000 0
OFM2 & JIEHA 40,000
ZOHQ AFSIEN =0 =& 293,000 223,000 70,000
307 21201 A 283,000 223,000 60,000
11T MISAASEX 283,000 223,000 60,000

_20_




PN Z2Z2E0HA
HH: HA=EX ANEE SH(MIEXN/FHLAHSTE)

SOl FONQIAINA o ASIE O 2HCH (sl &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OYLSER ANEXER2 45 XA 8,000
O&OL JIs&IUag KA 15,000
o=zsd L2 JNsHIUE X 10,000
OFEMASXNSEANYE 2 250,000
308 XX SHHSOIH 10,000 0 10,000
01 AXHNBNMNEXZ 10,000 0 10,000
SEHHO AMZEA 2O FA 10,000
SOHQIE X E435 X3 117,000 326,500 A 209,500
307 QI2t0| & 60,000 100,000 AN 40,000
11 AMISAAEE X 60,000 100,000 AN 40,000
O&fel HASX 60,000
308 AXISHHSOIA 15,000 50,000 A 35,000
01 AIXHMBAEXZ 15,000 50,000 A 35,000
SO IS =ME T2 15,000
403 XX SHHM S X201 A 42,000 176,500 A 134,500
01 AXHNMAHEE = 42,000 176,500 A 134,500
OZORIH JIsEY 42,000
AR WEXA(21) 100,001 92,378 7,623
= 92,106
== 7,895
308 AXISHMSOIHA 100,001 92,378 7,623
= 92,106
= 7,895
01 HXHHNBIMNEXTS 100,001 92,378 7,623
oM &M WX 100,001
= 92,106
o= 7,895
HAEZOR SAHIZE XK (=21D) 41,800 50, 160 A 8,360
= 38,500
== 3,300
308 XiXI X SO & 41,800 50, 160 ~8,360
= 38,500
& 3,300
01 AIXHMBAAEXZ 41,800 50, 160 A 8,360
OAd&ER SAtHIES K& 41,800
= 38,500
== 3,300
NHEMOH K =X S 185,000 175,000 10,000
307 QI2t0| & 10,000 10,000 0
11T A SEXAIE EX 10,000 10,000 0
OXHMHAS & XS 10,000




2N
X ZH -
L= B

el

ZZZ 0§t
A=K AMBEE =
FOHAANS & AN

S(MESX/HAAHEX )

2

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
308 AXISHXMSO0IH 140,000 135,000 5,000
01 AIXHMBAEXZ 140,000 135,000 5,000
OXHMHANANSE A 2H 80,000
OXHME s EHSALY 60,000
403 IR SHHSA201H 35,000 30,000 5,000
01 XX SHMAA2EX 35,000 30,000 5,000
OXH MK JNs22 35,000
TEANEH 404,000 0 404,000
307 QI2t0| ™ 404,000 0 404,000
04 QIZHSHAFAIE 2 X 404,000 0 404,000
OEEHMNEH 404,000
BH2SYAU (2N D) (IIEH/IIE) 81,077 80, 139 938
= 12,000
= 69,077
o2t 2 | 40,589 40,592 A3
= 12,000
= 28,589
ColgNtel ¥ ASESNA(HE)(ZD) 40,589 40,592 A3
= 12,000
T 28,589
101 @121l 40,589 40,592 A3
= 12,000
T 28,589
03 I HLZ22 NHE 40,589 40,592 A3
OLQIUXI2IAIY FEtolt ol 40,589
= 12,000
T 28,589
Jl2& bl 40,488 39,547 941
EXN2Y9 JI284| 40,488 39,547 941
201 LEt2 Y| 27,168 25,747 1,421
01 AFR2t2ldl 27,168 25,747 1,421
ORNMEY ArR22ltl 27,168
202 (48] 9,720 10,200 AN 480
01 2L Y| 9,720 10,200 AN 480
EMEY WA 9,720
203 ¥R =&H| 3,600 3,600 0
04 ENSIHRE=XY| 3,600 3,600 0
©2092! ol ot 300,000& x12& 3,600

- 22 -




